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Class - IX

Time: 3hrs.

SECTION - ‘A’ (carrv one mark each

1. Which of the following is not a whole number?

(a) 1 (b) 3
(c) O (d) none of these
2. The value of ‘k’, for which the polynomial 2x* + kx + /2 has 1 its zeroyis:
(a) —2++4/2 (b) —v2 +2 0
() -(v2+2) (d)o N Y
3. Which of the following a zero of the polynomial: p{x) = 07
(@) a (b) O
(c) 1 (d)na Ined
4. The factorization of 3x* — x — 4 yields:
(@) {x —1)(3x —4) 1(3x 4+ 4)
(c) {x+1)(3x —4) A% —x+1)(3x —4)
5. Infig; AB | DE, ~BAC = 35° N A B
and £CDE = 53°, then £DCE is: Qe c
(a) 88° : (b) 92° A
(c) 102* (d) 108° D E
6. Infig; side AB & AC of are extended to a points A
P & Q respectively & Q, also £PBC<£QCB, then B C
(a) AB>AC @ (b) AB=AC

(c) AC>AB @ (d) AP>AQ P Q
7. Afloral desi loor is made up of 16 tiles whose triangular sides are 9cm, 28cm and 35cm. If the area of

1.2cm? and the cost of polishing is 50p per cm? then the total cost of polishing of 16 tiles is:
(b) Rs 705.60
(d) Rs 704.60

(b) 34/3

(@) 22
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SECTION - ‘B’ (carry two marks each -

14.

15.

16.

. Factorize: (x +2)°+ (x —2)°
. In fig; if AC=BD,

fx=1-— ’E,findthevalueof( —i)3

“
Then prove that AB=CD A y

fx=— % is a zero of a polynomial p(x) = 8x° —ax® — x + 2, find the valu
. In fig; AB divides £DAC in the E G

ratio 1: 3 and AB=DB A /N 108° N N 4
Determine the value of x ) 7‘
A D B C
OR 3 32°
In fig; D|) x°
Find the

value of x.

Ifa = ;:';Eand = i—:f, fin
OR
Find the value of —= N © wmg given that vY3=1732and /5 = 2.236.
Simplify: :g ﬁ o G
OR
Find th a and bif: 4t3:5 a+ b5
Fa 8x° +27y° = z° + 18xyz
lynomial ax® + 4x* + 3x — 4and x° — 4x + a leave the same remainder when divided by (¥ — 3). Find
Iue of a.
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19.

20.

21.

22.

23.

24,

25.
26.

27.
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If the bisectors of angles ZABC & £ACB of a triangle ABC meet at a point O, then prove that »BOC A’

A WP |
F 4 U
OR L B
If one angle of a triangle is equal to the sum of the other two, show that the triangle is a righ e"
A
In fig; AB Il DC, I\‘
i — E ’ — E ‘
|fx_3}and} = g“ g
Find BCD, 2ABC and £BAD y
In fig; PS is the bisector of angle
<2QPRand PT" L JR.
1
Show that #TPS = E(AQ —£R) N B
In fig; it is given that AB=EF, A F X 7‘
BC=DE, ABLBD and FELCE
Prove that AABD = AFEC B C D
In fig; < 65 >
ABICD x
Find x < 27 >
Find the area of a trapezium whose paralkﬂ 25cm, 13cm, and other sides are 15cm and 15cm.
SEC ‘D’ (carry four marks each
. . B I

Slmpllfy VIST SNBSS 3
OR 'S

15 = ey
Evaluate ——————=—=-—, is being given that /5 = 2.236 and Y10 = 3.162
If = d xy* + x*y.

3—2+2

OR

a2
If x = =5 q,fmdthevalueof&: +y°.

I
L are the remainder when the polynomials x* + 2x* — 5ax — 7 and x° + ax® — 12x + 6 are divided

1) and (x — 2) respectively. If 2R;+R,=6. Find the value of a.
ind the value of p and g so that x* + px® + 2x® — 3x + g is divisible by x* — 1.
ctorize: @+ 3a*b+ 3ab*+b'—8
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30. Plot the following ordered pairs of number (x, y) as points in the Cartesian plane. Use the scale 1cm11 it o‘

the axes.
x -3 0 -1 4 7
¥ 7 -3.5 -3 4
y
D YAV
L Y
A ®
31. In fig; AE bisects A gFe

A |
£CAD and £B=«C E ,

Prove that AE | DE
32. In fig; BMLAC and DN_LAC
such that BM=DN.
Prove that
AC bisects BD.
33. In fig; AD=AE
& BD=EC
Prove that
AB=AC. B D
34. If two isosceles triangle

have a common base

the line joining their vertices o
bisects them at right angles. Q D
\ 4 0
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